touchONE-4

CS0594

Description Connection Initial Setup
Top view Bottom view Download the Setup Guide
Network infrastructure touchONE-4 interfaces by scanning the QR code
S 4x VESA hole 75 x 75 mm
o [ PoE———
@ NU' M4 1 2 3 4 5 6 7 8
O 520 | o I o 1
LCD display Shafts for wall adapter hooks

with touch sensor

Reset button

Network connector

LLALI. .} 14 T
Sensor connector
Side view Rear view
102 mm 128 mm
>

LED indicator

Wall mounting adapter

H &

Screw M4x30 Screw M4x30 Nut M4

Tabletop installation without fixation

Cable bushing

Round attachment

Tabletop installation with fixation

Ethernet cables

touchONE-concentrator

I—

X

Factory Default Setup

User Manual

Complete user manual can be downloaded from
http://www.touchone.eu

Box Contents

Workplace reservation interface touchONE-4
Ethernet cable

Set of plastic caps

Wall mounting adapter

4x screw M4x8

Screw M4x30

Screw M4x40

Round attachment

When the Reset button is pressed longer then 5 sec., the factory default
function is performed and setup is as follows:

¢ P address: from DHCP (192.168.1.128 without DHCP)
¢ IP Mask: from DHCP (255.255.255.0 without DHCP)
¢ Password: Empty (no input required)

On-wall installation

Nut M4

Hexagonal Allen key

Tabletop mounting adapter

Cleaning tissue

Quick Start

Declaration of Conformity & Warranty Conditions

On-wall un-installation

Top view Side view

8"

1. Insert the Ethernet cable into the selected cable
bushing and plug it into the connector on the unit. You
can use any cable bushing (rear, left, right) depending
on where you need to route the cable.

2. Cover the other cable bushing with the supplied caps.

3. Place the unit on the table.

www.touchone.eu | support@cuesystem.com

Side view  Top view Side view

i —

Side view

Front view

N
¢

37 mm

1. Define position of the unit.
2. Drill a hole with a diameter of 35 mm.

1. Prepare standard electrical wall box with Ethernet cable.

Side view

W e
i
V2 Ve

1. Insert the supplied hexagonal Allen key or thin
screwdriver into the small hole at the bottom of the

Side view

A\

Side view

)

N\

CLICK

3. Select the screw according to the thickness of the table top and screw it into
the unit.

4. Route the Ethernet cable through the hole in the table and plug it into the
connector on the unit.

5. Place the unit on a table.

6. Place the round attachment on the screw.

7. Tighten the round attachment using the nut M4.

© CUE, ass. | All rights reserved. | Specifications are subject to change without prior notice.

2. Attach the wall adapter to the electrical wall box. Check its orientation as

shown.

Fix the wall adapter with two screws compatible with specific wall box.
Route the Ethernet cable through the hole in the wall adapter and plug it
into the connector on the unit.

Put the unit on the wall adapter using the hooks on the wall adapter.
Secure the unit by sliding it down.

unit and push it inward. This releases the unit from
the wall adapter.

2. Pull the bottom of the unit away from the wall.

3. Pull the unit upwards to pull it out of the wall
adapter.

4. You can now remove the units from the wall and
disconnect the cable.

Quick Start Q5148
Revised 09.10.2020



